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: INSTRUCTIONS :
~ All questions in the Test are multiple choice questions.

'Each question carries one mark, with four alternatives out of which one answer is
correct. ' ‘

There will be no negative marking. |
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

* Mark your response only at the appropriate space against the number corrésponding to
the question while:answering on the OMR Response Sheet.

Marking more than one responée shall be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the ovdl should be completely filled.

. Use of calculator, Mobile is strictly prohibited and use of these shall lead to
- «lisqualification.

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test. ‘

The question paper will be both in English & Punjabl. In case of any doubt, Enghsh
version will be taken as final.
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Phosphorus and nitrogen ions generally get depleted in soil because they usuall& ocCcur as

(a) Natural ions o
(b) Negatively charged ions
(c) Positively charged ions

‘o

(d) _ Both positively and negatively charged ions but in disproportionate mixture

[

o = wies g os |
(a) OIS oiTs T |
(b) IIIIHA TIH MG TS
(c) FEI3IHI TIH WUIE & TS

%mw%-‘%ﬁ%ﬁaa&#@mf&%w%%@aﬁa

(d) FETSHA M3 BIIIHA TR T'oW IS U3 mHITHS nimus I

Which one of the following is an essential mineral which is not a constituent of any
enzyme but stimulates the activity of man(% enzymes ?

(a)  Zinc

() Potassium )

L. @

Manganese
Magnesium

5 fafemit o foraat wgdt fisas 3 3 faR & eamave o 6o a3t 3 udg 5oz A

enzymes €t JStfedt 5 39 awer I 7

(@ Zinc “(b)
(c) Potassium ‘ (d)

In C-4 plants, the Calvin cycle operates in:

(a)  Stroma of bundle sheath chloroplast (b)
(¢) _Grana of mesophyll chloroplas& (d)
C-4 Ufenit 139 calvin 999 Aofss Jer 3 ¢
(a) Stroma of bundle sheath chloroplast (b)
(c) Grana of mesophyll chloroplast  (d)

The greatest Froducers_of organic matter are

(a) Crop plants

(c) - Plants of land area (d)
A8 3 209 nfed UeraE 2 @3ued 75 ¢
(a) TAmte e ®)
() FA2fema iR @)

Manganese
Magnesium

Grana of bundle sheath chloroplast
Stroma of mesophyll chloroplast

Grana of .blmdle sheath chloroplast
Stroma of mesophyll chloroplast

Forests
Phytoplankton of oceans

"

Hdl&%
AHd @ Phytoplankton

A bottle filled with previously moistened mustard seeds and water was screw capped
tightly and kept in a comer. It blew up suddenly after about four hours. The phenomenon

involved is known as

(a) Diffusion (b) Imbibition

(c) Osmosis : (d) Diffusion Pressure Deficit

e 83 o9 ufos 3 9 g T @ i v wet 39 X OF e de 39 T B e
e 59 feg u v favor 1 9 w2 e o S a2 ot | fem yfigor & farr e D
(a) Diffusion (b) Imbibition

(c) Osmosis (d) Diffusion Pressure Deficit

Which of the following movement is not related to auxin level ?

(a) Bending of shoot towards light  (b)
(¢) Nyctinastic leaf movements (d)
I3 ot feg” faast
(8) <TU T IHET E® za
© U3 R vefsBrefy yfanr G)

Paper-1I (Biology) 7 2

Movement of root towards soil
Movement of sunflower head tracking the sun

yfafont auxin Uug &% Bdfus st 3 7
b 73N T yEifatonr

AR it @ o T o & It 5 wamr
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7.

10.

11.

12.

13,

Phototropic and Geotropic movements are linked to

(a) /Gibberellins (b) Enzymes

(c) Auxins o (d) Cytokinins

Phtottorpic M3 Geotropic I35 Hau3 J

a)  Gibberellins {b) Enzymes

c} "Auxins d) Cytokmms‘

The first carbon dioxide acceptor in C4 plantis .

(a)  Phospho enol pyruvate (b; Ribulose 1, 5 - diphosphate
(¢) Oxaloacetic acid (d) Phosphoglyceric acid

C-4 Ufeni’ o9 ufger areas shenranets yers a@3 3 7 |
a)  Phospho enol pyruvate Ribulose 1, 5 — diphosphate
gc; Oxalgacetic acid ?3 Phosphoglyceric acid

The most widely accepted theory of Ascent of Sap in trees is
a) Capillary action
Role of atmospheric pressure
c; Pulsating action of living cells _
Transpiration pull and cohesion theory of Dixon and Jolly

Sap & 933 & ¥ 3 903 yerfas fgiz
(a) Capillary action

(b) T3IETsE v T e

(c) T8 A&t ot sooet ovag

(d) Dixon 3 Jolly € transpiration 257 m3 fesis fyuiz

The hormone responsible for apical dominance in plants is
(a) IAA GA

© ABA_ | d) Florigen

S I9HB | Ufenit <9 apical Fat B2t deg 3 7

%a) IAA (b) GA

¢) ABA (d) Florigen

The photosynthetic pigments found in chloroplasts occur in

fa; Thylakoid membrane (bg Plastoglobules

¢) Matrix (d) Chloroplast envelope
Chloroplasts {8 U8 A= 3 photosynthetic pigments wfes e g5

(@) Thylakoid membrane fog (b) Plastoglobules fog

(c) Matrix feg (d)  Chloroplast envelope feg

The dark reactions of photosynthesis occur in
a)  Granular thylakoid membrane o
}  Stromal lamella membrane :
¢)  Stroma outside the photosynthetic lamellae
d) Periplastidial space .
Photosynthesis ® 373 yStaagn wfes 3@ o5

a)  Granular thylakoid membrane
) Stromal lamella membrane -
¢) Stroma outside the photosynthetic lamellae
(d) Periplastidial space

Which one of the followin, technique has helped in the investigation of Calvin cycle ?

(O, Radioneie hography, - e (@ Toomitennique
P foe fxaar Calvin Cycle 9 o 595 feg Howarg I ¢
(@) "aR-d crystallography (b)) MIA-I 3TH
(¢) Radioactive isotope STl (d) Intermittent I=ET
' 3
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14,

15.

16.

17.

18.

19.

20.

ggg;go ;_nonsoon, the rice crop of Eastern states of India shows lesser yield- due to limiting

(a) Carbon dioxide (b) Light

(¢) Temperature (d) Water . a
H@ﬁmm%wwmﬁﬁémuﬁwﬁ@%ﬁm?maﬁw
feg fan e Stwe 3 ‘

(1) TIIS FEMETAES () IuSt :
(c) 3IUHS d =t =)
Ferredoxin is a constituent of '
(a) PS-1 (b) PS-2

(c) Hill reaction ' (d) P-680
Ferredoxin fXH & 9155 3
(a) PS-1 (b) PS-2
(c) yarst ySignr (d) P-680
In terrestrial habitats, temperature and rain fall conditions are influenced by
(@) Water transformations (b) Transpiration
(¢ Thermoperiodism (d) Translocation
aé’aaﬁfanﬁ%aaaﬂen@m%mqaﬁag%aa :
(a) T TBT A6 (b) IFFA
(¢) Thermoperiodism @ €93ws f?? S

Bananas can be prevented from over-ripening by
(@) Maintaining them at room temperature
Refrigeration '
(c) Dipping in ascorbic acid solution
(d) Storing at high temperature
a'éw i T F AT 9
(a) I D IUHE I TE TS () &3 feu FIwE &%

(c) Ascorbic WFS fe8 58S & @ €3 3w feg T 58
The enzyme that catalyses carbon dioxide fixation in C4 plants is

(a) RuBP carboxylase (b) PEP carboxylase
(©) HCarbonic anhydrase (d) Carboxy dismutase
C-4 iifentt fog Tous SEMTATES & 733 TUBE T THAHE I
(@) RuBP carboxylase (b) PEP carboxylase
(c) Carbonic anhydrase (d) Carboxy dismutase . -
Which one of the following is produced during water stress that brings stomatal closure?
(a) Etbylene (b) Abscissic acid ' ‘
(c) Ferulic acid N (@) Coumarin  _ R
HEEH‘EEW%BWWWWQ@%HMWW%
(a) Ethylene _ ~ (b) Abscissic acid
(c) Ferulic acid (d) Coumarin
‘Which one of the following is a C4 plants ?
(a) Papaya (b) Pea
(c) Potato (d) Maize/Comn
35 fafumit feF fozr C4 D'y
() Wi (b) Hed
() "3 @ et
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- 21,

22.

23.

Maximum solar energy is trapped by

ga; PGlantmg trim anks f?l; gultlvatmg crops
c rowing algae in rowing grasses
| FIHT-% 89 Fiedt wiet 3, gnrar s

(a) l-l% e &1 (b) <AE HvE &%

(c) &g feuw a=t U o496 5% (d) urg 8Bz &%

If a tree flowers thrice in a year (Oct., Jan. and July) in Northern Indla, it is said to be
a) Photo and thermo-insensitive
Photo and thermo-sensitive
c) Photosensitive but thermo-insensitive
Thermo-sensitive but photo-insensitive

333t 3793 feu dEt AaT A fem 85 o9 (niagae, Moedt M3 g feu &5 Oor ager
J,stferd faoraerd:
(a) IES w2 FEH Yt miRTEHS

~ (b) IuSt w3 aedt Yt AR

(©) I8 St AResH uS3 aoHt It niidesHs
(@) Tt Yt Aeearts uS3 Iush Yt niikeaHs
Which element is located at the center of rphlam ring in chlorophyll ?
§a} ‘Calcium 5)0 agnesium

Potassium

c Manganese

. CMomphyllﬁBﬁWWporphynnnng@a?aﬁwaéw AT 3

25.

26,

27.

a) Calcium Magnesium
gc; Potassium % Manganese .
Which one of the following is wrong in relation to photo-respiration ?

(a) It occurs in chloroplast. ib It occur in day time onlg
© It is a characteristic of C4 plants. (d) _ It is Characteristics of C3 plants,

I3t A BF 2 Ay feg o fofint fog faozr a3 9 ¢
(a) &3 chloroplast R wfes Jor d () ﬁaﬁaeﬁﬁnﬂrwl%sg?%l

) feocslfort ez d (@ fwciifeniodszd
Photosynthetic Active Radlatlon (PAR) has the following range of wavelengths
{a; 340 — 450 nm 400 —~ 700 nm
c) 500-600nm. ' d) 450-900nm
~ Photosynthetic 3&3 f&aat (PAR) Tt 95 wavelengths gt 3
(a; 340-450nm }b; 400 — 700 nm
(¢} 500-600nm d) 450-900nmm
Which one of the following will produce andro emc haploids in anther culture 7
{a) Anther wall ; rer of anther wall
Ec; Connective issue . Young pollengrains
fed" fixTT" anther culture &9 androgenic haploids Je¥ &r3ar ?
ga; Anther wall , gb; Tapetal layer of anther wall
c) Connective issue d) A% UTH
A population of genetically identical individuals obtained from asexual reproduction is called
(a) Callus (b) Clone
(¢} _ Deme o (d) Aggregate
maﬂum-@mﬁ?ﬁ?aﬁﬁamﬁuaérféaﬁﬁﬂwmé}amwa ?
(a) Calius - : (b) Clone
(c) Deme , (d) Aggregate
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28. In ﬁn Angiosperm flower, how many microspore mother cells are required to produce 100
en ams .

?J; 100

g;s( 25 d

angjosperm % <9 lmmﬁﬁﬁ?maﬁﬁ%mnmsporemoﬂm cells FET@WS 7
(a} 75 _ fb} 100 £
(c) 25 d 50

29. In a type of apomixis known as adventive embryony, the embryo develops dlrectly from
a) Nucellus or integuments

Zygote
c Synergids or antipodals in an embryo sac
- Accessory embryo sacs in the ovule

apomixis 1 & adventive embryony @ ArfenT Aier a &g 10 39 ‘3 embryo fom
@nirgr Oer Jer 3
(a) Nucellus or integuments
(b) Zygote
() Synergids At antipodals f<T £ embryo sac
(d) Ovule f&T accessory embryo sacs

30. Two plants can be conclusively said to beiong to the same speeles if they
a) Have more than 90 % similar genes
)  Look similar and possess identical secondary metabolites
d) Have the same number of chromosomes
) Can reproduce freely with each other and form seeds

T U2y 39 ‘3 ffx It 7St o Reus 99 7 BRE 96 HeW ¢

(a) ﬁ'aa90%3'€'Uﬁ?HﬁTagenesUE

(b) B 70 avg Bz w15 udg Hfesa ugs fafenr =8

() 5 fid chromosomes =

@) ¥ oRd m@ nie U few 83umes o9 AAR I8 M3 Hi 5 AaE 96 |

31. The first successful transformation of tDNA molecule into a bacterium was carried out by
(a) Nathan, Arber and Smith }b; Watson, Crick and Wilkins
(c) Boyer and Cohen d) Paul Berg

DNA & fea 3aidnr feg 359i® 396 = Ag 3" ufasr 3r9aT famd &t ?

(a) Nathan, Arber and Smith Watson, Crick and Wilkins
glgﬁ Boyer and Cohen d) Paul Berg _
32. e mechanism of intake of DNA fragments from the surrounding medium by a cell is called
a; Transformation only ; Transduction only
¢) Both(a) & (b) d) Conjugation
P Eniar DNA Zafantt § nird3-gnr® 2 Wit It IRE 96 9t Saale § ferar wter §
(a) 'Eransfonnanon only (b) Transduction only
(c) ©F (aym3(b) (d) Conjugation

33. The most important dlseover{vﬂlat led to the development of DNA technology was
(a) Double helix model of Watson and Crick
(b) Discovery of restriction enzymes
fe) Discovery of ligase enzymes
d) Discovery of plasmid

DNAmamaéfaﬁﬂagea%ﬁasamﬁuﬁ
(a) Watson and Crick € gdrE" J=SfE HeTs .
(b) restriction enzymes € n
(¢) ligase enzymes @t &
(d) plasmid T 89

Paper-II (Biology) | 6 D




M.

35.

36.

37.

38.

39.

40.

[
1

Golden rice is a transgenic crop of the future with the following improved tralt

(a) Insect resistance (b) High protein content

(c) High vitamin A content _ (d) High lysine content

H&fI9 9% 3y & 79 transgenic 275 3, 7 I foit feafF3 trait Gz D

(a) difonr 3 Haftenz (b) =0T Y& g3

() Wlfenwsegas (d) =TI lysine FEI

In order to obtain virus free plants through tissue culture technique, the best method is
(a) Meristem culture (b) Protoplast culture

{c) Anther culture (d) Embryo culture

fer am99 enrar difamft 3 Ha3 IR TS a9 @ AZ 3 <dter Sdftar

(a) Meristem culture (b) Protoplast culture

(c) Anther culture (d) Embryo culture

Which one of the following bacterium is considered as “Nature’s Genetic Engineer” ?
(a) Agrobactrium tumefaciens (b) Agrobactrium radiobacter

(c) Pseudon:onas putida (d) Thermus aquaticus

(@) Agrobactrium tumefaciens (b) Agrobactrium radiobacter

(c) ~ Pseudomonas putida (d) Thermus aquaticus

The technique of DNA fingerprinting was perfected by

(a) Stahl (b) Beadle and Tatum

(¢} Franklin (d) Alec Jeffreys

DNA &t Wi ufgeors o7 a96 ©F 3adta § faor Aer 3 ¢

(a) Stahl (b) Beadle and Tatum

() Franklin ' ‘ (d) Alec Jeffreys

Which one of the following hormone pair is required for a callus to differentiate ?
(a). Auxin and Cytokinin (b) Auxin and Ethylene

(c) Auxin and Abscissic acid (d) Cytokinin and Gibberellin

5 fsfmtt feg” {33 harmone W' callus Wi39-fs8s &t Ster 9

(8) Auxin»3 Cytokinin - (b) Auxin®3 Ethylene

(©) Auxin ™3 Abscissic acid (d) Cytokinin »3 Gibberellin

Any DNA molecule that has the ability to replicate in an appropriate host cell to which the
desired genes are integrated for cloning, is called

(a) Plastid (b) Linker

(c) Vector (d) Phagemd '
3t DNA molecule fi7H 29 host cell % % T JIE J<, A 1S9 cloning &t 83T genes

A3 92 95, § faor weT O

(a) P]astld _ (b) Linker
(¢} Vector (d) Phagemid
The most popular and widely used engineered plasmid vector is
(a) pBR 322 (b) pUC vector
(c) pSC101 @ pUCI19_
A3 3 J0 HEgT i3 fem3vs feg niBz oo sarfon fenr Vector 3
(@ pBR322 (b) pUC vector
c) pSC101 ~{(d) - pUC19
-7 Paper-11 (Biology)
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41. Nomenclature code governs the naming of animals.
(@) ICZN (b) ICN
(c) ICNB | d ICTV
_ ufgsma ydu Aaeat ¥ aHEEs § feaurfes a9 I8
(a) ICZN | (® ICN
(c) ICNB d) ICTV
42, Sea Anemone hasa symmetry.
(a) Bilateral (b) Spherical
(c) Pentamerous (d) Radial/Biradial
et ashis e . #3399 ¢
(a) <t (b) T ' -
() Jnfafimit ‘g fsafiz endten) (d) woufen (ISmm/EEns)
43. Basic unit of eyes in the eyes of insects is | o
(@) Retina (b) Rhabdome
(¢) Corneal facets (d) Ommatidium
13 dnft niat fog niy &t et fearst 9 0
@ O IS
(c) dTATEHE SACH @ S
44. Cray fish belongs to
(a) Pisces : (b) .Arthropoda
(¢) Mollusca (d) Anthozoa
od Nt er Adm 9 -
(8) UEIAR 5 () WEERE &
© HGA &% (d) W& EFS
45. Mammary glands are modified '
(a) Salivary glands (b) Lacrimal glands
(¢) Sweat glands - (d) Sebaceous glands
A3 I3 quisfaz 75
(a) roded a8 . (b) BTIHE IS
(©) AT ad3 @ Farm s
46. isa mammal which lays eggs.
- (a) Scaly anteater (b) Spiny Anteater
(¢) Porcupine (d) Hedge Hog
oS Ia 3 e O
(a) AR WARes : ) RUEE M
() UgaQueis | (d FTa
47. Heart of crocodiles is -
(a) Three chambered (b) Four chambered
(¢) Two chambered | ' (d) Five chambered
HIaFE T fes 9 . |
. (@ 3 -3 : (b) U< I
() - EEEd (d) U oEd
Paper-II (Biology) 8




48.

49,

50.

51.

52.

53.

Birds are able to recognize their home through

(a) visual cues (b) sense of olfaction
(c) orientation of magnetic fields (d) All of the above
Ut niuzr miger ugse a5
(@) fouct omor AAS & (b) du/puz & fEedt onar
(c) Yool 337 P (@ &usss A
Villi are seen in T.S. of
{a) Stomach (b) Liver
(c¢) Pancreas Intestine
fest &t . . feu fourst féar ?r
@ T | ) free
(c) UoF et (@ izt
Ecdysis is the shedding of ‘
(a) Homs : (b) Stratum corneum
¢) Dermis : (d) Stratum germinativum
ST I : .
(a) TI&w € (b) FSISH TISHH T
() sIfm (d) FeI2H Ftddten &
Phagocytic cells of liverare -
(a) Kupfer’s cells (b) Dieter’s cells
(c) Hensen’s cells (d) Aciner cells -
frag e efice s a5 :
(a) ART2HE () e R ¥
() IsAB TR (d) Ree A®
Oxyntic cells in stomach secrete
(a) Pepsin - - (b) Mucous
(¢) HCI (d) Renin
Eafiafea R® Ue feu Aadic F9¢ 06 ¢
(a) Uuts () fiBam
(cy . A ot @ I
The heart murmur is due to
(a) Coronary thrombosis (b) Defective leaky valve
(c) Arterial valve (d) 1l developed atrium
fes & miew fer @9 3
(a) JIadt mIHafHA (b) et 5% few A
() MIAInS &= (d) S T He feam
In sickle ceil anaemia, the disorder is caused due to the change in chemical nature of
(a) a chain of haemoglobin (b) P chain of haemoglobin
c) Neither of them (d) Both the chains
g‘lﬁhﬂ»ﬂfﬂaﬁﬂ‘mﬁa m@mmmm%mmwﬁ
(a) THHIWMES <t o B (b) THosfas &t p &5t
(c) fagt &3t &t (@ <=t

9 Faper-11 (Biology)




55. Deamination is the process in which
(a) Poisonous urea is removed from blood and it occurs in kidney. )
(b) Amino acids are absorbed from digested food and it occurs in intestinal villi.
(¢) Amino acids are synthesized and it occur in liver. A
(d) Amino acids are broken down to produce ammonia and it occurs in liver.

Fhitdms mifrdt yfafear 9, far feo

() s feg Afodt gaber gerfene Aier 3 w3 groe feg urfenr TieT 3

(b) mw@@mmmwa@mm&amwai

(¢) "itd wifRs & fEmEy oz Aer 3 w2 foe fes wfewr Afer 9

(@) e s § viisShr Oe w98 wet 3fanr A 3 w2 fiew feg ufer AT 9
56. Hearing is controlled by

(a) Frontal lobes (b) Temporal lobes

{(c) Parietal lobes (d) Occipital lobes

A&E Aast § fml‘aa a3 AT

(@) TIH ST oMT - (b) SUIH FF o

(© Udtes By grar (d) vioHRiies &g o
57. Which of the following disease results from endocrine disorder 7

(a) Goiter (b) Pneumonia

¢) _ Typhoid (g) Jaundice
onrgT faagt fanrat e gt

(@ ¥qJa (b) fanshmr

(© fioret gug (d) UiShr
58. The following are ectodermal derivatives :

(a) liver (b) redblood cells

(© nails _ (d) intestinal lining

3TRfee 05 :

(@) frow b) &5y S

© &J : (d) fE=endtes setféa
59. Loss of reproductive capacity in women after attaining a particular age is

- (a) Menstruation (b) Aging
%ﬂ Menarche (d) Menopause
%ﬁﬂ@mﬁemymmfwmﬂaﬁéuﬁa&@m% :
(a) WrfHUSH () e
(c) HagurHtaag (d) wAs T9y o ge 9=

60. Failure of testes to descend into scrotum is

(a) Vasectomy _ (b) Cryptorchidism
¢) Impotency - %i) Tubectomy
T nAE®3T T AadeH feg §39R 9 ;
(a) SAFSH _ FIUNIEITSAH
© o (d) feQammert
61. Secondary sexual characters in females develop in response to hormone
a; Relaxin Progesterone
c) Estmé_@ . dg Thyroxin
g3t fou Tnd Ragnis Seat o fea & I195 9\ Tois 98 euder It
@ fodaims ®) ydrfeds
(c) "ASIIS (d) u=tefus

Paper-IlI (Biology) 10 D




62.

63.

65.

67.

68.

The term cell was coined by

(a) Alfonso Corti (b) Robert Hooke
{c) Robert Brown '(d) Dujardin
H® Foe o nifemarg st 3
(a) MBTEH SISt (b)) IS I3
(c) Jg9c 59853 (d) grefesd
The ability of a single cell to divide and produce all of the differentiated cells in an
organism is called
(a) Differentiation (b) Totipotency
() Meiosis (d) Division
FdTea Aaes few foxt K & fefds Mo 8 43wz 3 e a9s & mider & o os:
() neEES/fermdtaes (by 22T
(c) fBfhm @) fesws
Cellulose, the component of cell wall, is made up of which monomer units 7
(a) Xylose : (b) Glucose
(c) Glucuronic acid d) Mannose
H® % o wex Resn, fan 18Ha feardt 3 gfon 3
(2) e | ) IS
© maaﬁsa (d) Paa
The net gain of how many ATP molecules are there in one cycle of glycolysxs ?
(a) 4ATP : (b) 2ATP
(c) 1ATP (d) 16 ATP
ISR 2 o Jog few 103 ATP HBIfa85 T Az dR 36 2
(2) 4ATP ' (b) 2ATP
() 1ATP (d 16 ATP
Zygotene stage is the part of which phase of cell cycle ?
(a) Prophase-1 (b) Metaphase-I
(c) Interphase (d) Anaphase-I
A% Sag @ fan uamt o ffmr ardldidts Aem 3 ¢
(@) yeu (b) Heew
(c) fécsdw _ ) iR
bond is present between amino acids.
(@ H (b) Peptide
(c) Ionic (d) None of the above
e nfstfee ____dsofederd
(@ "MONT b) DweEEHEs
(¢) nEllfs EF , @ fegt &9 agt &
When Mandel crossed the pure tall & pure dwarf plant, the phenotypic ratio comes to be
(& 9:3:3:1 b) 1:2:1
() 3:1 (d 1:1:1:1
ﬂ?h&*&ﬁu@%maﬁmawaﬁw%?mmw%
(@ 9:3:3:1 ®) 1:2:1
€ 3:1 ' @@ 1:1:1:1
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70.

71.

72.

73.

74,

The phase of the cell cycle in which the DNA synthcms occurs ;
(a) M-Phase (b) Gap0

(c) Gapl (d) S-Phase

% Jag o uamf fitw fog 3t nis & ARa e J ¢

(a) Mu-3H () o

(© Il @ "Aew

In double helix model of DNA, the DNA is present in which form ?

(a) B-form (b) Z-form

(¢) A-form (d) None of the above

gt mis & ¥ 999 Jfsan Hss fry, Q%%ﬁnwﬁaa@aw%

@ @Hgufe b Waufm

() Tgufes : (@ fegtfeg agtadt |

Species in which both male & female gametes are produced by one individual are
- (a) Monoecious . (b) Dioecious

{(¢) Both(a) & (b) (@) Neither (a) nor (b)

ﬁa@aﬁmmﬁﬁmaﬁn&a?m%ﬁmﬁm&m

(a) HEHMH ' () FTeGemm

(© = (d) ¥t & |

When the cross is made between offspring &its parent, it is called as

(a) Back cross : (b) Intergeneric cross

(¢} Interspecific cross (d) All of the above

7 miwre 3 fore G3uea feg aeR Tuger I 3T fer & fagr mier 3 ¢

(a) X IIH o) fEcordfex a9m

(¢) fEcorlrlfex awm (d) Sudaz A &

The phenotype of an organism is influenced by

(a) Genotype (b) Environment

(c) Both(a)& (b) {(d) None of the above

o Aoes o Seeeid fan 3 ysfes ger 3 ¢ |

(a) wideEy (b) TI=IE

© @IO)TFT (@ fogi fed o=t &dt |

Gaseous mixture used by Miller for synthesis of amino acids through heat and electric
discharge included

(a) Methane, ammonia, hydrogen and water vapours.

(b) Methane, ammonia, nitrogen and water vapours.

() Methane, nitrogen, hydrogen and water vapours.

g))-ﬂx Ammonia, carbon dioxide, nitrogen and water vapours.
ﬁrfns%mae?aw%famérmmﬁmée@aﬁﬁmﬁgma&

(a) HIE®, niidéhor, aEtsdns 3 Ut @ Ty |

(b) HIES, niidher, FTEEHs 3 Ut @ IRy

() HIES, M, TEIEAs I Ut IRy

() nma'hw 9IS SEAATELS, aTEldHs M3 Uet © =
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75.

76.

71.

78.

79.

80.

81.

Evolutionary changes in ohe species prompt corresponding changes in other species with

which the former interacts ecologically. This process is known as

(a) Coevolution ()

Complementation .

‘Microevolution

g)a Parallel evolution (d)
e ufireasa S 57 A duer 3 | fer yfafonr § fxar Afer 3

(a) BH feam _ (b)
(c) AHgu fa™w , (d)

An example of convergent evolufion is
(a) Marsupial mole and placental moles (b)

c¢) The wings in birds and insects  (d)
%’EHHH’(' feorn &t Geaes 9 ¢

Ao feam
HuH feam

The flippers in penguins and dolphins
All of the above .

(@) Mo w3 s s () Dafes w3 3afes 2 e
(© Ui w3 difanit ¥ b3 @ GuiEs A ¢
Thie cranial capacity of which one of the following prehistoric humans was almost same as
that of the modern man ? : o
(a)  Neanderthal man . (b) Pekingman . .. - - -
(¢) Javaapeman (d) Australo pithecus man
@em@wmm'ammm@mﬂaﬁa ?
(@ fo&sTum oY L () dfaEsY |
(c) T<T BY HAY , (d) rAZIRITESH HEY
The shape of beaks of Darwin’s finches, industrial malanism are examples of
(a) Artificial selection (b) Natural selection :
(c) Convg%ent egplution - . (d) Homologous structure
sofes €t & g5 v niarg, Sedfod AfsaR/aBuE GEraast J5:
(a) A9-FEIE T b) eSS IE
() Feamht fem (@) ATt Aess
Stabilizing selection favours ' : :
(a) Both extreme forms of a trait (b) Intermediate forms of a trait
(c lgnvironmental differences (d) One extreme form of a trait
(a) BET TR YIS | (b) ez T MIITE
(¢) T3Eas fdagr (@ == o fex ygsgy
What is associated with Neurosis ? ,
(a) It isrelatively mild mental iliness. (b) Neither delusions nor hallucinations
c) Both(a) & (b) T (d) Neither (a) nor (b)
%@H‘H‘F{* s REfas &t 9 1 :
() y%?a'%am’fmaw ®) & JgHdEs & & fslelns
© @IOT @ @7 TR
Night-blindness is caused by ' .
(a) Genetic disturbance Excessive drinking
(c) Excessive secretion of adrenals  (d)  Vitamin A deficiency
oS T EEE
(@) rioera feues/fesra (b) wifswfax FIEGHT
(c) WIS T HIA fIAmA | (@ feefise due
13 Paper-11 (Biology)
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82,

Mental retardation in children suffering from galactosemia can be avoided by
(3) Giving them milk free diet. _ B
(b) Giving them more milk. _

(c) Giving them milk fortified with vitamins.

(d2 Giving t{)em high protein diet, .
mz“ﬁﬁwa‘rzﬂaaa“ﬁnﬁﬁawxﬁqaﬁmg"ﬁammma :

(@ B TuIfBygay o

®) 85 % fmrer gy

(¢) 85 3 fearfis i3 gg 3 o

(d) 83 nifta Udts et yow = ohirgT

Vitamin containing biochemically rare element cobalt is

83. -
' (a) Vitamin A (b) Vitamin B, (¢) Vitamin B, (d) Vitamin B, 2
Ate-arfeen-UuT '3 wrasE I3 duse Jux T feeia 3 - -
(a) feerfis A (b) fearfis B, () feefim B, (@) feerfims B,,
84. A dental disease characterized by mottling of teeth due to —_ in drinking water : |
(a) Boron (b) - Flourine (c) Chlorine (d) Mercury
é#@%u@mmua%ﬂ%ézémerm_azﬂze@mﬁﬁemﬁwﬁw% :
(@ 3 ®) <Fds (c) IBIs @ raFst
85. The causal orgénism of kalaazar is
(a) Plasmodium (b) Leishmania (c) - Trypanosoma - (d) Wuchereria
T & gE39 o argz D :
(@ wWwREMM  (b) FvmEder (o TERERHT @ ééﬁ?ﬂmr
86. Severe acute respiratory syndrome is caused by '
(a) Corona virus : (b) Adeno virus
() Both (a) and (b) (d) None of these
FJ-AAT AdanE @ Fee Sz or oz 3
(&) a3 femg (b) WS femz
© @3 Ep=R | @) feogt 49 &
87. Varicella zoster virus causes ' _
~ (a) Smallpox - - (b) Chicken-pox
(c) Mumps (d) Hemorrhagic fever
St vReT femrs o arae 3 |
(a) 5 ®) & |
(¢ dsAWWJdar (d) TIBAT gy
88. Micro-organisms which grow best in low pH conditions are called
(a) Alkaliphiles (b) Neutrophiles P2
(¢) Acidophiles (d) None of these:
T 1w W feres pH Afvst fem 3t s ol 2, g faaraer 3
(a) rEISETEa (b) fGeseetmm
(c) rriSerEtmn ' @ fegtfes adt st
Paper-II (Biology) ’ 4



89.

90.

91.

92.

93.

Plague is caused by

(@) VYersinia pestis (b) Paramyxo virus

(c) Herpes virus (d) Rhino virus
WITITIEJ ¢

(a) waHEhr UAfeR (b) UeiaR ferg

(c) dTIum femrg ' @ B e

Which organism causes Cysticercosis ?

(a) Echinococcus ' (b) Rickettsia provazaki
(c) Taenia solium (d) Enterobius vermicularis
fixgdt Hager argE Cysticercosis S8t J:

(a) WASIH (b) Toorerhr Yarwmelt

(c) &I AdoM @) WTamiA TRAIS IR

RFLP analysis is a technique that
(@) uses hybridization to detect specific DNA restriction fragments in genomic DNA.
(b) is used to determine wheather a gene is transcribed in specific cells.

(¢) measures the transfer frequency of genes during conjugation.
(d) is used to detect genetic variation at protein level.

RFLP fer@ne fed 3a81g 9

(a) a@‘f&?ﬁﬁ%ﬁ'ﬁf%f@ﬁﬂDNAqﬁUﬁmﬁGmomicDNA%ﬁﬁa
¥fsz J A 9

(b) wwm@ssﬂﬁnﬁﬁn@mmﬁéf%ﬁaﬁﬁ@;ﬂs%aﬁaﬁ
gar 3 |

(©) ﬁﬁm@umﬁmwméméfw?ww&@

(d) qaﬁm'%mﬁﬁwwwm@zwmmaw

The tertiary structure of protein is detected by

(a) X-ray diffraction (b) Spectrophotometry
(¢) Electrophoresis (d) Chromatography
A & 3-Figger § fam gy ugrfenr wer J ¢

(a) WA-T {5 ) )jﬁajééé‘ﬁzéf

(¢ Tedagesthn . (d) SRS
Electrocardiogram (ECG) :

(@) Measures electrical activity generated by brain

(b) Recording of the hormonal activity of the heart over time
() Recording of the electrical activity of the heart over time
(d) None of the above

At

(a) fermar gnirar Gurfes fimmet faferissT § HuE

®) =tite At feg fum oF gaiss fafanmfesr & foxr9s ags
© =tta A foo fom of fomset fafanmitssT § foames a9a
@ fegor feg G2t &dt
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94. Which of the following is not correct about freeze-fraéture technique ?
(a) It involves physical breaking of frozen biological samples

9s.

96.

97.

98.

99,

(b) Fixation in glutaraldehyde _

(¢} Involves vacuum sublimation of ice
(d) Cryoprotection with glycerol
T2 3099 St A ot Gfes ot -

e

(@) R e wufont o 3fsw g 3 gow fom g w3

(b) Glutaraldehyde 3 fsaurfaz g3 fog

(c) =92 < AHaBW nusiEs fon feg oivs D

(d) JIMEHIB 578 ST Zams

Diapause can occur at

(a% %Jar:hal szage ) El;; iupal tstage £ devel t
(c either (a) nor ny stage ot developmen
Ffedn fodg suger J -

(&) nifsafiz/aee dug '3 (b) fuBumigs '3

(©) (a) "3 (b) &= &t (d feam e A & ug '3
Light ith 1 bet 400-760 nm i

@ I gy 7S between 400-760 amis light

(c}) Visible light (d) " None of above

400-760 nm €t 3dq-Saet few yamm Qawr 3

(a) fedeods yam (b) uT-BaEt foat v yaw
(© Y3 yaH | d fgfegadtst
Antagonism consists of following ;

(a) Competition Predation

(c) Parasitism (d) All of above

fedua fem faoz I3 e g 3 -

(a) yIiwasr (b) Buedt

(c) R &= (d) Budas A &

Parasitism and Predation both are int tfic relationshi

(a) The involvement of two different species

(b) The host is not directly killed in one of them

() One species is always benefited
(d) Onems%pecics is always inhibited

e

O

ps, but they differ from each other in

U S ni33-Rebeer 0 R 75 19 o oD T el A 9 D -

(a) @ Judort Aot & ErEh

®) ﬁ?ﬁf%ﬁﬁaﬁem%wﬁﬁm&ﬁwﬁww

(©) B ymst e &3 fog offst
(d) fex yardt o =ahis ofiat

The term ‘Biosphere’ was first proposed by

(a) G.E. Hutchinson (b)
(¢) Eduard Suess (d)
Biosphere Fa@ & ufgdt 29 femdums oz

(@ W . Jofears (b)
(c) YHENTS MAR @
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100. The underground layers of water-bearing pbrous rocks are éalled

'(a) Pedosphere (b) Aquifers
(c) Lithosphere (d) None of these
(a) UISHEMT (b)) PEEEd
(¢) SEREE | @ fegtfesadtadt
101. Competitive exclusion principle was given by
(@) G.F.Gause - . (b) E.P.Odum
© _ G. Hardin (d) Lotka and Volterra
ySHtiae nfaedt fruts fdar : ,
(a) Fme. A (b) Sai8au
(c) . oafss @ z‘v‘sza*m%éaéa*
102. If succession starts on a bare rock, it will be first invaded by
(a) Mosses ' ' (b) Lichens:
(c) Shrubs - (d) Herbaceous plants
ﬁaaﬁaa@%@mﬁéaﬁaiﬂa?ufa#@mewéﬁ%w.?
(a) WA b =
© v @ wE-gd

103. Which of the following is not a deep sea adaptation ? | \
(a) Bullet shaped streamlined body (b) Dorso-ventrally flattened body

(c) Light organs (d) Ventrally placed, big mouth
figt e ot s mied 2 nisgs adt 3 |
(@) T HES T MY () HeSt e fils @ Jst JuemiaT
(©) YA vdl _ | (@ It Afas fems T
104. Which of the following is not an example of a typical lotic habitat ?
(a) Stream (b) River
- (¢) Spring - (d) Swamp _
%Wﬁ?mwmﬁaméfz&m e QegdE 50 3
(a) ST ()
(o) =TT (d T
105. Which of the following do not belong to littoral zone periphyton ?
~ (a) Pond snail (b) Hydra
() Rotifers (d) Daphnia
35 fofuntt e firaar Jeeadt 839 & Hatfaz a3t 3 7
(a) . SOET ulEr () U e Ay
(c) T | (d 3B=dmr
106. Which of the following terms is not related to thermal stratification of a lake ?
(a) Eutrophication ' (b) Thermocline
(c) Epilimnion (d) Hypolimnion
I fsfintt fo fagat nee Hie & 3 eowde! a7 HEfTS &8t 9
(a) Eutrophication - - (b) Thermocline
() Epilimnion (d) Hypolimnion
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Which of the following does not take part in the formation of water blooms ? "'

107.
(a) Nostoc (b) Pinnularia  (¢) Anabaena (d) Oscillatoria
s fofimtt fee foor Ut 2 38t & fisafkz ares fem i ot 8w : |
(@) Nostoc . (b) Pinnularia (c) Anabaena (d) Oscillatoria
108. Which of the following does not represent a characteristic of the tundra biome ?.
' (a) Permafrost (b) High species diversity
(c) Chamaephytes - {(d) Polar climate
(a) Permafrost * (b) High species diversity
(c) Chamaephytes (d) Polar climate
- 109. Which of the following does not occur in Oriental region ?
(a) Indian porcupine (b) Indian elephant
(c) Zebra (d) One-horned rhinoceros
(@) <t Jorfauels () 393t g
(c) wET ) fe=-fa @E
110. Which of the following does not show social organization? :
(a) Termites (b) Housefly {(c) Ants (d) Bees
(a) fHEa () 3Gt () St (@) HG Wfhor
111. The National Bureau of Fish Genetic Resources (NBFGR) is located in
(a) Lucknow ~(b) Bhubneswar (c) Barrackpore (d) Trivandrum
NBFGR AfEz 3 |
(@) T (b) FIdHT (©) 8Suyg @ faReen
112. ‘Which of the following is called as ‘Kashmir stag’?
(a) Hangul (b) Pigmy hog (c) Thamin deer (d) Musk deer
5 &ttt feg® amitdt foes |
(@ JIm ) fwenitdar () afHs figa (d) A figar
113. In a food chain the amount of DDT is increased through the process of
(3) Eutrophication (b) Remediation . (c) Biomagnification(d) Denitrification
¥ &t feg A3 & wsor fxm yfafor a5 Torst 7t D -
(a) Eutrophication (b) Remediation (c) Biomagnification(d) Denitrification
114. One Homned rhinoceros is associated with : '
(a) Kaziranga National Park ' (b) Jim Corbett National Park
() Keoladeo National Park (d) Dudhwa National Park
fea-fia dE o Rdad
(a) IHGAT 3EE% IR (b) TH F98z 3mas uaa
(c) dNE3E 3rew v | (d) TUE AEES SR
Paper-1I (Biology) , ' 18 D



115.

116.

The state mammal of Punjab state is .

(a) Musk deer (b) Black Buck
(c) Hangul ‘ (d) Thamin
g 9y o v g e fager 9

(@ SRSt figar b) T figar
(¢ s (&) =B

The chief merit of Bentham and Hooker’s system of classification is that
(a) It is a natural system of classification of all groups of plants.

(b) A system based on evolutionary concepts.

(c) Itis considered to be based on phylogenetic concept.

- (d) The descriptions of taxa are based on actual examination of specimens.

117.

118.

119.

120.

Bentham and Hooker’s & @3a1-28 @t feRma feg ¥ fa

(@) feg A3 Ufontt  dgu & Toa-35 &8 gt dT I
() fea fimeH fearm oz 3 we3 3 |

(c) T&R & phylogenetic fU'3 '3 niarg3 HfenT AT 3

(d) fraxaerﬁeafzsyﬁmﬁe'fmmuau%m%

One of the best methods for understanding genetic relationships of plants is

(a) Cytotaxonomy (b) Experimental Taxonomy
© Numerical Taxonomy (d) Chemotaxonomy

tifent ¥ genetic KT § uftres & 7 3 <y ST J |

(@) Cytotaxonomy (b)  3u9d nUl5 Taxonomy

(¢) RAfemr3Hd Taxonomy (d) Chemotaxonomy

Carolus Linnaeus is credited with introducing

(a) The concept of inheritance (b) Law of limiting factor

(c) Theory of heredity (d) Binomial nomenclature
Carolus Linnaeus €t y&t 3 fa 89 ufgere ao@er 3

(a) feom e froizaw (b)ﬂéa%ﬁu*é_maaaaerﬁuis_m
(¢) U= fHU3 5% (d) Binomial nomenclature &%
Systematics deals with

(a) Identification of organisms

{b) Classification of organism

() Thekind and diversity of all organisms and the existing relationships amongst themselves
(d) Identification, naming and classification of plants . :
Systematics €7 ReT J |

(a) organisms O USF

(b) organisms T TIN5

(©) Frfonr & fami w3 iz

(@) organisms 9t URIEE, &H FTE »i3 MU HET
Which one of the following is the most advanced group of Algae ?

(@ C hyta (b) Rhodophyta
(c) Phaecophyta (d) Chlorophyta
3o fofimit fou fa3T Algae © A8 3 90 3@t AYd I

(a) Cyanophyta (b) Rhodophyta
(c) Phacophyta o . {d) Chlorophyta
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121.

122,

123,

Origin and evolution of sex in algae is seen in _ |
(@) Bluegreenalgae (b) Greenalgae  (c) Red algae (d) "j‘Brown algae

Algae feu 81 & 7ou 3 fegm, Ao famr 3 _ |
. (a) ST Algae (b) T Algae (¢) &S Algae (d) gJ Algae
Zygotic meiosis is a characteristics feature of 4 |
(a) Algae (b) Bryophytes (c) Pteridophytes (d) - Gymnosperms
Zygotic meiosis faA €t felmzr 3 : |
(a) Algae (b) Bryophytes = (c) Pteridophytes (d) ‘Gymnosperms
The only positive evidence about aquatic ancestry of Bryophytes is
(a) like protonema (b) Green colour
(c) Some forms are still aquatic, (d) Ciliated sperms
Bryophytes ¥ AH-ferest o3 3 rererav Ags 3
(a) U'd TIIT Protonema (b) I |
(c) FSHAJITI= aquatic Ts (d) Ciliated gogE

124.

125.

126.

127.

128.

- To which group would you assign a plant which produces spores and embryos, but lacks

and vasculature?
(@) Algae (b) Fungi (c) Pteridophytes (d) Bryophytes
# Uer spores %3 embryos der &3 ud feg seeds »3 vasculature & wre 32, 8R §
fom dfgu feu 531 7 - - |
(8) Algae (b) Fungi (c) Pteridophytes . (d) Bryophytes

If the chromosome number in the leaf of Funaria is 20, what will be the chromosome
numbser in the spores ?

(@ 20 ® 40 ) 10 . @ 5

WS Funaria ® U3 T J=-539 nix 20, 3t spores T g=-539 via & 93w

(a) 20 (b) 40 (c) 10 d 5

The dominant generation in Pteridophytes is

(a) Haploid (b) Gametophytic (c) Diploid (d) Triploid
Pteridophytes feg Wiy 35 & o

(a) Haploid (b) Gametophytic (c) Diploid - (4} Triploid
Megasporophyll is the term used in Gymnosperm to denote :

(a) Carpels (b) Stamens (¢) Leaves (d) Female Cone
Gymnosperm f€8 Megasporophyll F5e TaR@z &8t Tafanr qiar D

(a) Carpels (b) Stamens (¢) Leaves (d) Female Cone
At which partlcular stage of development, the endosperms in Gymnosperms is formed ?

(a) At the time of fertilization (b) Before fertilization - ‘
(c) After fertilization (d) Along with the development of embryo
Gymnosperms f¥9 endosperms fm uzmi Sug gaer 3 |

(a) T IS IS AN (b) 393 OIS 96 3 ufgst

(c) 9T UT5 96 3 FmiE (d) embryo ¥ feaH @ -5
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129.

130.
131.
132.
133.

134.

135.

(a) Arber and Smith (v) ~ Lederberg and Tatum
¢) Jacob andnlylonaﬁd N (d) Zinder and Lederberg
feu Atims § dfinr 3
(a) Arber and Smith (b) Lederberg and Tatum
(¢) Jacob and Monad (d) Zinder and Lederberg
Which one of the amino acid is found only in bacteria and blue green algae ?
(a) Methionine (b) Diamino-pimelic acid
(c) Aspartic acid (d) Glutamic acid
#5037 Amino Acid F79e Satdmm w3 T3 Algae feg wfenr Afer 3
~(a) Methionine , (b) Diamino-pimelic acid
(¢) Aspartic acid (d) Glutamic acid
In fungi, the reserve food material is usually stored in the form of
(a) Starch (b{ Lipid
(¢) Glycogen ‘ . (d) Protein
&kt g ot 3vis fim gu fee Hafer AT 3 8T
“(a) Starch (b) Lipid
(¢) Glycogen (d) Protein
The fungi producing usually 8 spores in a sac like structure belong to
(a) Phycomycetes B }  Ascomycetes
(c) Basidiomycetes ' (d) _Deuteromytetes
%Wﬁ‘%%&’sacﬁ%’ﬁSsporeﬁ?aﬂTﬂaﬂﬂaﬁga:
(a) Phycomycetes &'® (b) Ascomycetes 55
(¢) Basidiomycetes 5% (d) Deuteromytetes 5%
One of the common fungal diseases in man is
- (a) Cholera ' (b) Plague
(c) Ringworm l (d) Typhoid
Sfomit fog O &t Az 3 U pmy R 3
(@) ¥ ' (b) W
(c) W : @ ERfes
Lichens are the major pollution indicators of
(a) SO, - (b) NO,
(c) Mercury N (d Co
Lichens YgRE © Ag I3 AI3A I5
(a) SO, () NO,
(© U . (d CO
21 Paper-11 (Biology)

Bacteria do not need sunlight to grow because

(a) They prepare their own food without the help of sunlight.
(b) - They are photophobic.

(c) They lack chlorophyll to synthesize their food.

(d) They use other kinds of li&pt to manufacture their food.

S @ feaR Et gon € IFeT &1 Bt fa8fa

() B9 Han & IEAt 3 o wiuET 3 iy 309 S 76
(b) B3 Imet & F-urE FIe TG |

(c) B3 niru=T 375 8='8% BET Chlorophyli T wre Jue I6
(@) 80 55 g=8z et gRdt famH < IRE Yo ae I8

The conjugation in bacteria was discovered by




136.

137.

138.

139.

140.

141.

142,

The Lichens that are rock dwellers with xerophytic adaptation are called

(&) Lignicolous  (b) Tericolous () Saxicolous - (d) ‘Gprticolous
Lichens H fX Xerophytic & nigassr &5 Sest fog foem age 75,8951 -far A 9
(a) Lignicolous (b) Temicolous (¢} Saxicolous (d) Corticolous
The spike like projections seen on the outer surface of enveloped viruses are cilled

(a) Capsomeres ® P lomeres (c) Proteomeres (d) -Viroids

ge faerantt ¥ Fraders ama wl 3 faor afgr 3

(a) Capsomeres (b) Peplomeres (c) Proteomeres ()  Viroids
Which one of the following shows coiled RNA strand and capsomeres ? :

(a) Polio virus b) TMV (¢) Measlesvirus (d) Retrovirus
ﬁaﬁwﬁwﬁ'ﬂ‘m%@é?ﬁRNAsmdm%capsomeresﬁwg?a

(@ dWefa=d (b)) T™MV (€) Measlesfaad (d) Retrovirus

When the margins of sepals or petals ovérlap one another without any particular direction,
the condition 1s termed as '

(a8) Vexillary (b) Imbricate (c) Twisted (d) Vaivate
Fréf'sepalsﬂ*petals%m%féa-gﬂ%széﬁﬁﬁwnﬁmééaﬁ%aa?mgﬁ
faar AT 3

(a) Vexillary (b) Imbricate (¢} Twisted (d) Valvate

Which one of the following statements is correct ?

(a) The seed in grasses is non-endospermic.

(b) Mango is a parthenocarpic fruit.

(¢) A proteinaceous aleurone layer is present in maize grain,
@ A sterile_ pistil is called a staminode.

I3 &t fe5 faasr ams At D

(a) wrg fee® 4 non-endospermic Jer

(b) nig 8 parthenocarpic 2%

(c) Hat € =fenr feg proteinaceous aleurone AFY Hge d&t 9
(d). sterile pistil & staminode far war

Which one of the following anatomical structure will you use to distinguish between the
old piece of dicot stem and a dicot root?

(a) Secondary xylem - (b) Secondary phloem

(c) Protoxylem. ' (d) Cortical cells : :
Dicot stem dicot root %éa%ﬁgﬂﬁaaaaérgﬁfﬁa%ﬁar-f%ﬁmmﬁéawerqﬁa
(a) Seéondary xylem (b) Secondary phloem

(c) Protoxylem (d) Cortical cells

“White rust of crucifers is a pseudo-rust because

(a) The disease is not caused by basidiomycetous member.
(b) The colour of the pustule is not red.

(c) The disease is seen on crucifers.

(d) The disease is not seen on wheat.

Crucifers ¥ Aa¥ rust fFd ot rust 9 X8 fx
(a) S T TI5 basidiomycetous B I (b) Pustule® JAFG 5/ T
(©) Crucifers §ug a1 2hmr famr ¥ (d) =T Gua Ja1 &Jt Himr favr

Paper-II (Biology) o2 D




143,

144.

145,

146.

The phenomenon of Heterothallism was first discovered in Mucorales by
ﬂ Charles Bassey ' Ebg Gaumann '

c) Blakeslee " d) Alexopoulos
Heterothallism = yfsor 5g 3 ufost Mucorales feg 67t aretf

-~ (a) Cl;arlw Bassey €' (b) Gaumann AT
(c) Blakeslee g™a" (d) Alexopoulos g"a"
Which one of the following meristem helps in increasing the girth of the stem?
(a; Lateral meristem . gb; Intercalary meristem
(c anaryhmeristem d) Apical meristem -
I £ fqga™ Meristem, stem € girth SUEE feu Hee a@er 97
%a; Lateral meristem gb; Intercalary meristem
¢) Primary meristem d) Apical meristem
Organization of the stem apex into corpus and tunica is determined mainly by
, éa; Planes of cell division (b) Regions of meristematic activity
¢) Rate of cell growth . (d) Rate of shoot tip growth
Corpus M3 tunica stmapexérmﬂuaa'gtrﬁl?ﬁﬂ"gaww:l
(a) Hs-Ssdtsfo (b) Meristematic I3 T 83T
() Fefamdes _ (d Shoottipfeamewd
For proper union between stock and scion in the grafting, which one is the first to occur ?
(a) Formation of callus ; Production of plasmodesmata .
(c) Differentiation of new vascular tissue (d Regeneration of cortex and epidermis

147.

148.

149.

150.

GmﬁingﬁastmknéscioneammmﬁmmaﬁﬁwmiufaWW ?

(a) Callus T 355 () Plasmodesmata & §5ues
(c) & vascular feg feg nizd (d) Cortex m3 epidermis € Us9-8539
A narrgwr{?yer- og‘_ thin walled cells found between MW' gnd wood of a dicot is called
a ork cambium ascular cambium
%c; Endodermis - ?3 Pericycle i o
Phlcem/bark 2 253 ¥ ¥4 dicot Tafimia wet wre ocft usa et of deg g foror wer 3 7
%a; goalédcamb_ium : ?3 gas.culair cambium
c ndodermis Pericycle
As the tree grows older, which one of the following increases more rapidly in thickness ?
(a; Il;Iﬁelart wood > %a;l:_t wood
c oem : ortex
_ %‘I%‘-ﬁ%‘mﬁ@ﬁm 3. 35 fufmit 755 faoa 3@ o6 USH Jor AT d
- (a) Heart wood Sap wood
8 Phloem . 8% Cortex

In plant leaves, the phenomenon of openin and closing of stomata is governed by
ia Circadian rh ?% Genetic clock :
(c) Pressure of gases inside the leaves (d)  Turgor pressure of guard cell

2 Ufznit 25 stomia T ¥BE »3 de 95 & t Fgrfes St A O o
(@) Circadian thythm ' ) frsAr wSt
(© Ufser viesdintt Int T ed€  (d) Jurd A% ¥ Turgor T8 3%

Phytochrome is involved in o
ﬁa; Phototropism ?); Photorespiration
c) Photoperiodism _ . (d) Geotropism
Phytochorme A& 3,
ga; Phototropism S gbg Photorespiration
c) Photoperiodism d) Geotropism
23 : Paper-11 (Biology)
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